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sSEX2
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[ 1,400,000 1,400,000 0
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= 40,000 40,000 0
= 2,063,470 2,248,270 184,800
EMANEE2E € B2 138,000 162,800 A24,800
201 =3 126,000 150,800 A24,800
01 AFS2t2ltl 20,600 28,400 AT,800
OReZHIEBH=Z (8 A)
1,000,000& « 122 12,000 18,000 26,000
OFEIIetE 2| 2 (3MHA)
300,000 123 3,600 5,400 1,800
02 2324l 105,400 122,400 A 17,000
OREYE23(130HL) 2,200 19,200 A 17,000
sSHAEEEDIE 2= 45,360 55,360 210,000
201 =3 29,600 39,600 10,000
01 AFS2t2ltl 25,600 35,600 10,000
Os2g4ENH 10,000 20,000 10,000
ISHSAIERS JIER Y 940,000 1,090,000 A 150,000
401 AlIEHIZL 2 0HY| 940,000 1,090,000 A 150,000
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Odzas &)= #IXIOHR Xtg Xt
800, 000& «2CH 1,600 4,000 A2,400
301 LRENEZF 12,116 17,300 Ab, 184
11 #AAHIXIR S 7,616 12,800 25,184
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SIIAH MEIA 23t

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
201 22 1,500 1,500 0
= 750 750 0
= 225 0 225
= 525 750 AN225
01 AFS2teltl 1,500 1,500 0
OsIH AR WS Wl 1,500 1,500 0
= 750 750 0
= 225 0 225
= 525 750 N225
202 04t 840 840 0
= 420 420 0
= 126 0 126
= 294 420 A126
01 =04 bl 840 840 0
Os2IH 84S WS 840 840 0
= 420 420 0
s 126 0 126
= 2% 420 N126
206 =4l 6,060 6,060 0
= 3,030 3,030 0
s 909 0 909
= 2,121 3,030 2909
01 M=l 6,060 6,060
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= 3,030 3,030
= 909 0 909
i 2,121 3,030 A909
wWEE sIIH K3 16,000 16,000 0
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405 XHAHE SHI 16,000 16,000 0
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= 2,400 0 2,400
i 5,600 8,000 22,400
01 I = SH S| 16,000 16,000 0
Ousg s8I X2 (=sgE8 SHRLL) 16,000 16,000 0
= 8,000 8,000 0
= 2,400 0 2,400
= 5,600 8,000 A2,400
sS4 e P 2 948,485 958,500 »10,015
201 22 117,900 127,900 210,000
02 2324l 117,900 127,900 210,000
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